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BEFRPQ)ERLAKXDDE

f, 1DODEMDOEE = g(fo + f,)

XO Xl
—

S~D(f +fh)+h(f + f )+D(f +f)+---+h(f + 1)
~2 0 1 2 1 2 2 2 3 2 N-1 N

y‘.
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BORITIVDAK

SRR [a b] & N=2m Z495

—DOXBEAT

2k =TIl
—

X E[-h,h] A ~FELT
BEILCHmEBEERLC

foo f 2R=
— g f y=AX*+Bx+C
2

~

_h _h MIRZTED
XX G X X X Tho ho X ;};:%)A’B’C{'
‘x=-h  f,=Ah?-Bh+C [ A=(f,—2f,+f,)/2n?
X =0 f,=C =) | B=(f,—f,)/2h
x=+h  f,=Ah’+Bh+C C=f,

~



BoA) TN

X &l [-h, h] THE 7
[ (Axt +Bx+C)dx=2Ah* 13+ C2h =[h(fy +4f,+ £,)/3 |

EXETORAPZELEDET

S=h(f,+4f+1,)/3
+h(f,+4f,+1,)/3h
+(f,+4f, +1)/3

N

{ S:g(fo+4fl+2f2+4f3+-~+2fN_2+4fN_1+fN) J
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S EIENZE T — F/J\b)\jjb =)

% :—[0 1+X° %
DEZEEAREVTIVVDOARICKYHETSHTOT S LEER
Tk, BEEMDLDERELRTE L,

Eh BREARFEITELIS1E5,

iImplicit real*8 (a-h,0-z) sZ0.0d0
f(x)=4.0d0/(1.0+x*X) do 10 k=1, n-1
pi=4.0*atan(1.0d0) | s=s+f(ath*k)
write(6,*) ‘Enter n’ % continue
read(5,*) n
a=0.0d0 S=(h/2.0d0)*(f(a)+f(b)+2.0*s)
0=1.0d0 write(6,100) s, s-pi
h=(b-a)/n 104 |format( 2f14.7)

D3¢ end




EEESDOTOTSL(2)

doXTT="f+f+-+f,_, K&, =
doXTU="f,+f,+---+Tf,_, @KRDHB, do 20 k=1,n-1,2
BHMEERLARK) S=h(f,+f, +@1+2U)/2 -
BAME(UTYY) S =n(f, + f, +4T +2U))3 | |20 continue

N

implicit real*8 (a-h,0-7] |ldo A0 k=1, n-1, 2
f(x)=4.0d0/(1.0+x*x) t=t+f(a+h*k)

pi:4.0*atan(1.0d0) 10 ontinue

write(6,*) “Enter n” / do 20 k=2, n-2, 2

read(5,%) n / u=u+f(a+h*k)

a=0.0d0 0 || continue

b=1.0d0 s1=(h/2.0d0)*(f(a)+f(b)+2d0*t+2d0*u)
h=(b-a)/n s2=(h/3.0d0)*(f(a)+f(b)+4d 0*t+2d 0*u)
t=0.0d0 3¢ write(6,*) s1, s2, s1-pi, s2-pi

u=0.0d0 H end




BEHFESDTOTS5.L(3)

S = jol4\/1—x2dx

(DWW THETRELTHELD!

implicit real*8 (a-h,0-2)
f(x)=4.0d0*sqrt(1-x*x)
pi=4.0*atan(1.0d0)
write(6,*) “Enter n”
read(5,*) n

a=0.0d0

b=1.0d0

h=(b-a)/n

u=0.0d0

t=0.0d0 53¢

10

20

N

do'10 k=1, n-1, 2
t=t+f(a+h*k)
continue

do 20 k=2, n-2, 2
u=u+f(a+h*k)
continue

s1=(h/2.0d0)*(f(a)+f(b)+2d0*t+2d0*u )
s2=(h/3.0d0)*(f(a)+f(b)+4d0*u+2d0*u)
write(6,100) s1, s2, s1-pi, s2-pi

end




